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[1x20]
1.
A 40 year old woman presented with complaint of bloody discharge from her right nipple. On examination nipple was found to be retracted and skin around it had orange peel appearance. Most likely diagnosis for this condition is:

a.
Krukenburg’s tumor


b.
Gynaecomastia

c.
Intraductal Papilloma 


d.
Paget’s disease of breast

2.
A 42 year old man presented with difficulty to initiate abduction at right shoulder.  On taking history, patient described that when he bends on right side then he can abduct his right shoulder. The muscle affected in this case is:

a.
Supraspinatus



b.
Infraspinatus

c.
Teres minor



d.
Subscapularis

3.
A person presents with partial sensory loss on dorsum of hand in the distal part of index and ring fingers. Which of the following nerves is involved?

a.
Ulnar 




b.
Radial

c.
Musculocutaneous


d.
Median

4.
A woman comes to OPD with complaint of difficulty to spread fingers of her left hand. The nerve involved is:

a.
Ulnar 




b.
Radial

c.
Musculocutaneous


d.
Median

5.
A 22 year old male football player suffered a wrist injury while falling with force on his outstretched hand. When the anatomic snuffbox is exposed in surgery, an artery is visualized crossing the fractured bone that provides a floor for this space. What artery was visualized?
a.
Ulnar artery



b.
Radial artery
c.
Anterior interosseous artery

d.
Posterior interosseous artery
6.
A 40 year old  woman  presented with partial sensory loss in left upper arm 4 days after receiving an injection. On examination left shoulder had flattened appearance and there was a hollow below acromian process. Which nerve is affected in this condition?

a.
Axillary



b.
Ulnar

c.
Median



d.
Radial

7.
In a 50 year old patient during neck surgery, the internal laryngeal nerve was injured.  This will sensation in which region?

a.
sensation to the vocal folds

b.
cricothyroid muscle

c.
sensation above the vocal folds
d.
sensation below the vocal folds
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8.
A forty five year old woman presented with inability to extend the left wrist whereas her right wrist was absolutely fine. She gave history of receiving an injection in left arm few days prior to the condition. The condition is due to :
a.
Radial nerve palsy


b.
Axillary nerve palsy
c.
Ulnar nerve palsy


d.
Median nerve palsy
9.
During surgical approach in infratemporal fossa region of foramen ovale which of the following structures is not at risk of paralysis in case of nerve damage?

a.
Masseter 



b.
Posterior belly of digastric

c.
Mylohyoid 



d.
Tensor veli palatine

10.
A patient presents with inability to open the mouth. Which of the following nerve  is damaged ?

a.
Facial




b.
Mandibular

c.
Superficial temporal


d.
Deep temporal

11.
Movement at the following joint permits a person to look towards the right or left:
a.
Atlanto-occipital joint
b.
Atlanto-axial joint
c.
C2-C3 joint
d.
C3-C4 joint
12.
A 35 year old man complained of sweating on left side of face whenever he eats food. He gave history of gun- shot wound 4 months ago on the left side of face in parotid region. This condition involves: 

a.
facial nerve and great auricular nerve.

b.
auriculotemporal nerve and great auricular nerve.

c.
infranuclear  paralysis of facial nerve

d.
due to injury to trigeminal nerve.

13.
A 25 year old patient presents with a complaint of chronic nose-bleed. To control the severity of these nosebleeds, his physician decides to ligate the sphenoplatine artery. From which of the following arteries does the sphenopalatine artery arise:

a.
External carotid artery


b.
Facial artery

c.
Maxillary artery


d.
Ophthalmic artery

14.
The neck of 30 year old driving a motor bike gets caught with the kite string. There is bleeding from neck and suddenly he collapses on road. Which of the following vessels is most likely to be cut?

a.
External carotid  artery

b.
Internal carotid artery

c.
External jugular vein


d.
Internal jugular vein

15.
A patient is brought to neurology OPD with complaints of unable to recoganise any article given in hand eyes closed. However, with open eyes he can recoganise articles. What may be the anatomical site of lesion in this patient. 
a.
Visual area 



b.
Wernicke’s area
c.
Primary sensory area


d.
Sensory association area
16.
A 60 year old man was bought in unconscious state. During examination it was observed that he had high fever, with bilateral paralysis of face and body. On examination pupils were very constricted (pin point pupils). Most likely the diagnosis is: 

a.
Medial medullary Syndrome

b.
Lateral medullary Syndrome

c.
Pontine haemorrhage


d.
Thalmic syndrome
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17.
A 56 year old man presented with explosive speech. On examination, physician found his movements were not smooth and more like puppet movements. There was also inability to execute alternate supination and pronation movements.  Which of the following area of brain most likely affected?

a.
Cerebrum



b.
Cerebellum 

c.
Midbrain



d.
Pons

18.
A 8 years child brought to paediatics OPD with complaining of irritability, sudden onset vomiting and large head. On MRI lateral, third and fourth ventricles are dilated. What is the site of obstruction to the flow of CSF. 
a.
Foramen of Monro


b.
3rd ventricle
c.
Cerebral aqueduct


d.
Foramen of Luschka & Magendie
19.
A twenty year old boy was admitted for treatment of neurosyphilis. On examination it was found that he had small pupils which were not reactive to light, but pupils constricted on seeing near from far (accommodation reflex was present).This condition is due to lesion in:

a.
Midbrain



b.
Pons

c.
Medulla oblongata


d.
Spinal cord.

 20.
A forty five year old lady came to hospital with complaint of loss of feeling warm or cold sensations in anterior part of tongue. Which of the following nerves is most likely to be involved? 

a.
Facial nerve



b.
Glossopharyngeal nerve

c.
Lingual nerve



d.
Hypoglossal nerve

Q.2 .
Describe the Functional areas of brain under following headings: -    

       [4x3]

a. 
Enumerate the various functional areas of the brain.

b.
Discuss the location, blood supply and functions of the different speech areas of brain
c.
Describe the applied aspect of speech areas of brain
Q. 3.
Write short notes on:                                                                      


 [5x4]

a.
Illustrate the microanatomy of parotid gland
b.
Blood supply of long bone
c.
Summarize the lumbricals of hand
d.
Describe the microanatomy of cardiac muscle
Q.4. 
Explain why:                                     
                                                     

  [3x5]   

a.
The protruding tongue deviates to the side of hypoglossal nerve paralysis
b. 
The carry angle is more in females
c.
Goiter may cause hoarseness of voice
d.
Dinner fork deformity is seen in Colles’ fracture
e.
Loss of taste sensation after extraction of third molar tooth
Q.5.  
Write short notes on:                 
                       




[6x3]   

a.
Discuss briefly the embryological basis and various types of cleft palate
b.
Discuss the applied anatomy of the lesions of facial nerve in its extracranial course
c.
Prepare a flow chart of lateral spinothalamic pathway

Q.6.
Write short answer: 








[5x3]   
a.
Dangerous area of face
b.
Lymphatic drainage of mammary gland
c.
Precautions while doing a cadaveric dissection
-------------------
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[1x20]

1.
A 14 year old girl was admitted in the hospital with complaints of pain abdomen and vomiting. The girl told the clinician that at first the pain was in the umbilical region and now it has been shifted to right iliac fossa. The clinician made a diagnosis of acute appendicitis. Which of the following statement regarding the anatomy of appendix is true?

a.
It arises from the posteromedial wall of caecum about 2cm below the ileocaecal orifice. 

b.
The most common position of appendix is 2o’clock or splenic position. 



c.
The maximum point of tenderness in appendicitis lies at the junction of lateral two third and medial one third of the line joining anterior superior iliac spine to umbilicus.

d.
The base of appendix is not fixed. 

2.  Positive Trendelenburg’s sign could result from the paralysis of

a.
Gluteus medius

b.
Gluteus maximus

c.
Psoas major


d.
Adductor magnus

3. Which of the following disorder displays X- linked recessive inheritance?

a.
Sickle cell anaemia

b.
Tay Sachs disease

c.
Cystic fibrosis 

d.
Haemophillia 

4.  A 75 year –old  male came to emergency with complaints of epigastric pain, indigestion and loss of appetite. Pain was not relieved by taking antacids. He also gave history of loss of weight. On examination the clinician observed epigastric tenderness, epigastric mass and palpable left supraclavicular node. He was diagnosed as a case of gastric cancer. Which is the most common site of carcinoma of stomach?

a.
Pyloric antrum along greater curvature.

b.
Pyloric antrum along lesser curvature.

c.
Fundus of the stomach 

d.
Cardiac part of the stomach  

5. Which of the following are the derivatives of midgut?

a.
Jejunum, ileum, Caecum and appendix.
b.
Pharynx, Oesophagus and Stomach 

c.
Descending colon, Rectum, Upper part of anal canal

d.
Kidneys, Ureter and Urinary bladder 

6.
A patient has a small tumour located at the level of the neck of pancreas. What other structure might be affected?

a.
Inferior vena cava



b.
Inferior mesenteric artery 

c.
Inferior mesenteric Vein 


d.
Portal vein 
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7. A patient after fracture of upper end of rt. Fibula complained of loss of sensation on lateral aspect of lower part of leg and dorsum of foot. Patient was unable to dorsoflex and evert the rt. foot. Name the nerve injured:- 
a.
Femoral Nerve


b.
Tibial nerve
c.
Common peroneal nerve

d.
Obturator nerve
8. A 60 year old male gives a history of urgency in micturation, difficulty in initiating urination, increased frequency of urination in the night. There is no history of pain. On per rectal examination, the surgeon felt a mass anterior to rectum. What could be the possible reason?

a.
Ureteric calculi


b.
Benign enlargement of prostrate

c.
Urethral fistula 


d.
Posterior urethral valve

9.
The contents of femoral sheath include:

a.
Femoral artery, Femoral vein, femoral branch of genitofemoral nerve

b.
Femoral artery, femoral nerve, femoral vein

c.
Femoral artery, femoral vein, Saphenous nerve

d.
Femoral artery, femoral nerve, Anterior division of obturator nerve.

10.  The duodenojejunal junction is supported by the attachment of which of the following structures?

a.
Suspensory muscle of the duodenum(ligament of Treitz)

b.
Falciform ligament


c.
Hepatoduodenal ligament

d.
Transverse mesocolon

11.  In renal colic, the pain is referred from loin to groin mainly through which spinal segments?

a.
T9-T12 



b.
T10-L1

c.

T11-L2



d.
T12 –L3. 

12.  A 70 year old patient with history of chronic bronchitis and constipation complained that he noticed a gradually increasing swelling in the right groin and feels dragging and aching sensation at that site. On physical examination the doctor noticed a globular lump above the right pubic tubercle which expands on coughing. After manually reducing the lump, occluded the deep inguinal ring with his thumb and asked the patient to cough. The swelling appeared medial to the thumb.  Which is the most likely diagnosis?

a.
Direct inguinal hernia.

b.
Indirect inguinal hernia

c.
Femoral hernia 


d.
Lumbar Hernia 

13.  A -6 year old boy came to orthopedic OPD with pain in the foot especially heel area which aggravated during walk and his ankles rolled inwards while walking. The clinician observed and diagnosed it as the case of flat foot due to underdeveloped medial longitudinal arch. Which bone is considered as the key stone of the medial longitudinal arch of the foot?

a.
Calcaneum 



b.
Cuboid

c.
Talus 




d.
Navicular 

14.  A patient sustains severe blunt trauma to the left upper abdomen and requires surgery. Which one 

  of the following organs in most likely to be involved?
a.
Appendix



b.
Gallbladder
c.
Pancreas



d.
Spleen
15. A 50 year old patient complains of dysphagia. On studying the oesophagogram, it was noticed that one of chambers of the heart is imparting a prominent impression on the oesophagus. Which chamber of the heart seems to be enlarged?
a.
Right atrium



b.
Right ventricle
c.
Left atrium



d.
Left ventricle
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16. A 7-year-old boy with Down syndrome underwent surgery to repair a congenital ventricular septal defect. During this procedure, iatrogenic injury to the coronary artery supplying the conduction system of the heart, including the sinuatrial (SA) and atrioventricular (AV) nodes,occurred, resulting in a heart block. What artery was most likely damaged by the surgeon?

a.
Anterior interventricular

b.
Left marginal

c.
Left coronary



d.
Right coronary

17. Which of the following structure is located in the left ventricle?

a.
Fossa ovalis



b.
Crista terminalis

c.
Opening of coronary sinus

d.
Posterior papillary muscle 

18. Which muscle of the sole contains two sesamoid bones?

a.
Abductor halluces


b.
Flexor digiti minimi brevis

c.
Flexor hallucis brevis


d.
 Adductor hallucis

19. The branch of the lumbar plexus emerging from the medial border of the psoas major 

a.
Illiohypogastric nerve 

b.
Illioinguinal nerve 

c.
Obturator nerve 


d.
Femoral nerve 

20. A 31 year old man was involved in a severe automobile accident and suffered laceration of the left primary bronchus. The damaged primary bronchus:
a.
Has a larger diameter than the right primary bronchus

b.
Often receives more foreign bodies than the right primary bronchus
c.
Gives rise to the eparterial bronchus

d.
Is longer than the right primary bronchus
Q.2.
Describe ‘Stomach’ under the following headings:



[4+4+2+2]


a.
Gross features
b.
Relations

c.
Lymphatic drainage

d.
Applied anatomy

Q.3.
Write short notes on:-







[5x4]


a.
Locking and unlocking of knee joint

b.
Pleural recesses

c.
Great saphenous vein



d.
Chorionic villi
Q.4.
Explain the anatomical/embryological basis of:-




[3x5]


a.
Tetralogy of fallot



b.
Pes cavus

c.
Extravasation of urine



d.
Varicose veins

e.
Referred pain to upper limb in case of acute myocardial ischemia
Q.5.
Discuss briefly the applied aspect of:-





[6x3]


a.
Bronchopulmonary segments

b.
Sex chromosome disorders

c.
Atrial septal defects
Q.6.
a. Draw well labelled diagram of:






[5x2]



i.
Microanatomy of spleen
ii.
Posterior relations of kidney 
b.
Discuss briefly about safe handling and disposal of biologic tissues.

[5]
-------------------
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[1x20]

1.
In a young lady with normal menstrual cycle, the estradiol levels in blood increases for 6–8 days after menstruation. What is the source of the estradiol?

a.
Corpus luteum 


b.
Endometrium

c.
Developing follicles


d.
Ovarian stromal cells 

2.
A 25-year-old woman presents to the physician with weight loss, nervousness, sweating, and hyperphagia. On examination her pulse rate is 110 per minute, high pulse pressure, tremor, a mass in neck which moves on swallowing and mild exophthalmia. On thyroid function tests it is observed that Serum TSH low, and a high Total thyroxine (TT4) level. Which of the following diseases best fits this patient’s clinical presentation? 

a.
Conn’s disease 


b.
Cushing’s disease 

c.
Graves’ disease 


d.
Hashimoto’s disease 

3. A 42-year-old man working for last 15 years in a thermal plant presents to his doctor saying that he is having difficulty in hearing for quite some time.  He informs that he is working in an area where he is exposed to loud noise for long hours and that he avoids using ear protection. Which of the following terms best characterizes his noise-induced hearing loss?

a.
Conductive hearing loss 

b.
Sensorineural hearing loss 

c.
Mixed hearing loss


d.
Presbycusis 

4. While working out with a trainer, an 18-year old girl performs biceps curls with progressively heavier weights. When she reaches 25 kg, she begins to lift the weight then suddenly drops it. Activation of which of the following is most directly responsible for the sudden muscle relaxation that caused her to drop the weight? 

a.
α-adrenergic receptor 


b.
β-adrenergic receptor 

c.
Golgi tendon organ 


d.
Muscle spindle

5. A 12-year school child complains that he cannot see what is written on the blackboard though he is able to read the books. His optometrist checks his vision. What is the probable refractive error, and the corrective measure prescribed for the child 

a.
Myopia- biconcave lens

b.
Hyperopia – convex lens 

c.
Astigmatism- cylindrical lens 
d.
Myopia- convex lens

6. A patient has a generalised brain destruction. What type of Aphasia would the patient present with

a.
Fluent Aphasia 


b.
Non-fluent Aphasia

c.
Global Aphasia 


d.
Anomic Aphasia 

7. A 15-year boy falls during a horse-riding event in school sustaining head injuries. After his recovery it is seen that he has some memory deficits. Which of the following brain area is correctly paired with the type of memory.

a.
Hippocampus and implicit memory
      b.
Neocortex and associative learning 

c.
Angular gyrus and procedural memory   d.    Hippocampus and declarative memory
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8.
An Electroencephalogram (EEG) recorded in an adult man awake at rest with eyes closed and mind wandering would show the following rhythm when electrodes are placed on occipital lobe 

a.
Alpha (8-13 Hz)


b.
Beta (18-30 Hz)

c.
Theta (4-7 Hz)



d.
Delta (0.5-4 Hz)

9. A patient diagnosed to be suffering from Parkinsonism, He asks his neurologist what the disease is about. The doctor tells him about the signs and symptoms and also explains the about neurotransmitters in the Basal Ganglia. Match the neurotransmitters to the nuclei of the basal ganglia 

	Basal Nuclei 
	Neurotransmitter 

	1.Globus pallidus
	a.Dopamine 

	2.Substantia nigra- pars compacta
	b.Glutamate

	3.Striatum
	c.GABA 

	4.Subthalamic nucleus 
	d.Acetylcholine


a.
1-c,2-a,3-d,4-b



b.
1-c,2-d,3-a,4-b

c.
1-a,2-b,3-c,4-d



d.
1-b,2-a,3-c,4-d

10. A middle-aged labourer presents to a clinic , on examination it is seen there is flaccid paralysis, muscular atrophy, fasciculations, hypotonia, and hyporeflexia. He could be suffering from a lesion of :

a.
Upper motor neuron 


b.
Lower motor neuron 

c.
Basal ganglia 



d.
Cerebellum 

11. A 3 year old child was suffering from diarrhea for the last 2 days. On examination signs of dehydration i.e. sunken eyes, dry mouth and drowsiness were present. Which of the following is the reason for rapid and more severe development of dehydration in children as compared to adults:
a.
ECFV/ICFV ratio is smaller 

b.
ECFV/ICFV ratio is larger

c.
Total body water is larger

d.
Total ECFV is smaller
12. A 40-year-old lady undergoes thyroidectomy and inadvertently her parathyroid gland is damaged. subsequently she develops parathyroid deficiency and would have 

a.
Low plasma phosphate and Ca2+ levels and tetany.

b.
Low plasma phosphate and Ca2+ levels and tetanus. 

c.
A low plasma Ca2+ level, increased muscular excitability, and spasm of the muscles of the upper extremity 

d.
High plasma phosphate and Ca2+ levels and bone demineralization. 

13.  A newly married woman consults her gynaecologist for contraception. She is prescribed an only 
       estrogen pill. This pill would prevent pregnancy by

a.
Increasing uterine contractility
b.
 Preventing Implantation

c.
Reducing sperm motility

d.
Inhibiting ovulation
14. A patient present with Symptoms of fatigue, dehydration, hyponatremia, and hypotension and melanin pigmentation of the mucous membranes and skin. He is most probably suffering from

a.
Primary Adrenal Insufficiency
b.
Secondary Adrenal Insufficiency

c.
Hyperaldosteronism


d.
Cushing’s Syndrome
15. A scientist is studying the Nerve conduction. Four neurons have axons of the same length, but different states of myelination and axon diameter. What combination of axon myelination and nerve fiber diameter would produce the fastest nerve conduction speed

	
	Axon myelination 
	Axon diameter (um)

	Nerve 1
	Myelinated 
	 15 

	Nerve2
	Myelinated 
	 10

	Nerve 3
	Un Myelinated 
	15

	Nerve 4
	Unmyelinated 
	10


a.
Nerve 1



b.
Nerve 2

c.
Nerve 3



d.
Nerve 4
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16. A teenager does a strenuous exercise for about 10 minutes. After the exercise, he continues to breathe hard and to consume large amounts of oxygen for minutes. The additional oxygen is used for the following EXCEPT 

a.
Reconvert the lactic acid that has accumulated during exercise back into glucose. 

b.
Replenish the ATP and phosphoryl creatine stores.

c.
Recovery from exhaustive muscle glycogen depletion 

d.
Re-establish the normal concentrations of oxygen bound with myoglobin 

17. A research scholar joins a neurophysiology lab to study the excitability of neurons. The experimental model is the spinal motor neuron. He stimulates the neuron at four different sites and monitors the production of action potentials at the axon. At which of the following regions does he need the lowest strength of stimulus to induce an action potential?

a.
Cell body



b.
Myelin sheath 

c.

Initial segment 


d.
Axon terminal 
18.  A child   born with male internal genitalia including testes but have female external genitalia, at 
puberty, develop male body contours and male libido. His parents then changes his gender identity to a ‘boy’. This is caused due to congenital deficiency of :

a.
5α-Reductase



b.
Testosterone

c.
Leutinizing hormone 


d.
21 hydroxylase 

19. A fertility clinic is running a project on sperm capacitation. Where does the capacitation take 
      place? 

a.
Epididymis 



b.
Ovaries

c.
Seminal vesicles


d.
Uterus

20.  A patient presents with features of Diabetes Mellitus. The doctor asks for a lipid profile in addition to other tests. The principal abnormalities of fat metabolism in Diabetes are associated with all EXCEPT:

a.
Accelerated lipid catabolism

b.
Increased formation of Ketone bodies 

c.
Decreased synthesis of fatty acids 
d.
Increased synthesis of Triglycerides
Q.2.
Name the pyramidal tract. Write their functions and effect of lesions on sensory and motor function.








[4+4+4]

Q.3.
Write short notes on:-







[5x4]


a.
Write about calorigenic action of thyroid hormone

b.
Importance of pitch and loudness of sound heard

c.
Write about functions of glucagon

d.
Write about the factors affecting diffusion across a cell membrane
Q.4.
Explain why:-








[3x5]


a.
On giving a threshold stimulus a small response is observed

b.
It is difficult to measure intra cellular fluid volume

c.
Osteoporosis can occur post menopause

d.
High doses of sedatives are harmful

e.
Vitamin A deficiency can influence vision
Q.5.
Short notes on(applied aspect):-





[6x3]


a.
Enumerate and discuss about functions of hypothalamus

b.
Write about pacemaker potential of smooth muscle and its importance

c.
Describe the functions of placenta
Q.6.
Short notes:-








[5x3]


a.
Write about the function of melatonin in health and disease

b.
Write about the physiological changes occurring at puberty
c.
Role of physician towards society and community
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[1x20]

1.  
A 60 year old male has blood pressure reading of 160/100 mm of Hg..His pulse pressure will be 

a.
130 mm of Hg


b.
60 mm of Hg

c.
260 mm of Hg


d.
30mm of Hg

2.
A person having suffered acute blood loss in an accident is brought to the emergency. His mean arterial pressure is 30 mm of Hg. Which reflex will be activated to prevent further fall in his blood pressure 

a.
Baroreceptor reflex


b.
Chemoreceptor reflex

c.
CNS ischemic reflex


d.
Bainbridge reflex

3.
Which of the following causes the mean electrical axis of the ventricles to shift to the left

a.
at the end of deep expiration

b.
when a person stands up, 

c.
Tetrology of Fallot 


d.
Pulmonary valve stenosis 

4.
A 30 year old woman experienced profound bradycardia, hypotension and a brief period of apnea followed by rapid shallow breathing. This description is consistent with the activation of which of the following reflexes? 

a.
Cushing reflex



b.
Central chemoreceptor reflex
c.
Atrial stretch receptor reflex

d.
Bezold-Jarisch reflex
5.
High Protein Intake 

        
a.
has no effect on  Renal  Blood Flow 
b.
decreases Glomerular Filtration Rate

c.
Increases the absorption of Sodium by the tubules

d.
Increases the resistance of afferent arterioles 

6.
On routine examination 70 years male had glucosuria with blood glucose level 350 mg/dl. What is the normal renal threshold of glucose?
a.
180 mg/dl



b.
120 mg/dl
c.
200 mg/dl



d.
320 mg/dl
7.
The first urge to pass urine is felt at a bladder volume of  

            a.

50 ml



b.
150ml 

c.

250 ml



d.
400 ml 
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8.
Which of the following is a hemolytic anemia caused by the membrane defect of RBCs 

a.
Sickle cell anemia


b.
Hereditary spherocytosis

c.
Thalassemia 





d.
Glucose 6 phosphate dehydrogenase deficiency anemia 

9.
A 10 year old child is brought to pediatric OPD with the complaints of pallor,pica and lethargy. The stool sample done for routine examination detects ova and cyst indicating worm infestation. Which of the leucocytes are expected to be raised on doing the peripheral blood  smear?

a.
Neutrophils



b.
Monocytes

c.
Eosinophils



d.
Basophils

10.
The peripheral blood smear of a  patient reveals monocytosis. A differential diagnosis of the following can be made EXCEPT that of 

a.
Tuberculosis



b.
Enteric fever

c.
Rheumatoid arthritis 


d.
Lymphomas 

11.
Hering Breuer reflex

a.
is responsible for controlling the inspiratory ramp signal in normal breathing

b.
is opposite to the action of Pneumotaxic center on inspiratory ramp signal

c.
Becomes operational when tidal volume becomes three times the normal(approx 1500ml)

d.
Decreases the rate of respiration

12.
A young lady is brought to the emergency and is diagnosed of having Cyanide poisoning. Which type of hypoxia is she suffering from”

a.
Hypoxic



b.
stagnant

c.
Anemic



d.
Histotoxic

13.
What is the clearance of a substance when its concentration in the plasma is 10 mg/dL, its concentration in the urine is 100 mg/dL, and urine flow is 2 mL/min? 

a.
2 mL/min 



b.
10 mL/min 

c.
20 mL/min 



d.
200 mL/min

14.
The Phosphagen system of energy in muscles is constituted by

a.
Glycogen-Lactic Acid pathway
b.
Aerobic pathway 

c.
Cellular ATP Stores


d.
Cellular ATP and Phospho Creatine store 

15.
A 40-year-old woman comes to her primary care clinician complaining of severe, episodic abdominal pain that is particularly intense after she ingests a fatty meal. An imaging procedure reveals that her gallbladder is acutely dilated, and a diagnosis of cholelithiasis is made. A gallstone lodged in which location will also increase her risk of pancreatitis? 

a.
Left hepatic duct


b.
Right hepatic duct 

c.
Cystic duct



d.
Sphincter of Oddi

16.
A patient who has undergone anastomosis of his jejunum to his stomach reports to his primary care physician that he has experienced several episodes of nausea, cramping, dizziness, sweating, and a rapid heart rate an hour or two after ingesting large volumes of sugary beverages. His symptoms are caused in part by 

a.
increased blood pressure

b.
increased secretion of glucagon.

c.
increased secretion of CCK.

d.
hypoglycaemia
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17.
Which of the following statements is true about Gastrin

a.
It is primarily produced by G cells of duodenum

b.
It has trophic action on mucosa of the stomach & intestines

c.
Distention of GI tract inhibits its secretion 

d.
Blood borne factors do not affect its secretion 

18.
Kety Method is used to determine  

a.
Splanchnic blood flow

b.
Cerebral blood flow

c.
Pulmonary blood flow 

d.
Renal blood flow 

19.
Double Haldane & Double Bohr effect is seen in which circulation

a.
Coronary



b.
Pulmonary

c.
Fetoplacental



d.
Cerebral

20.
 A female infant is delivered at a gestational age of 32 weeks and weighing 1 kg. Forty-eight hours after birth, she is noted to have a heart murmur and a bounding pulse, and is feeding poorly. Her symptoms resolve with administration of indomethacin. What is the most likely diagnosis?

a.
Respiratory distress syndrome

b.
Bronchopulmonary dysplasia 

c.
Apnea 





d.
Patent ductus arteriosus  

Q.2.
Define cardiac output. Discuss in detail the regulation of cardiac output. Add a note on methods of measurement of cardiac output.





[2+6+4]

Q.3.
Write short notes on:-







[5x4]


a.
Renal handling of glucose

b.
Emulsification of fats

c.
Chemical control of respiration

d.
Platelets
Q.4.
Explain why:-








[3x5]


a.
Phototherapy is beneficial in neonatal jaundice

b.
Oedema occurs in hypoproteinemia

c.
There are changes in heart rate while doing valsalva maneuver
d.
Autoimmune destruction of gastric mucosa leads to anemia
e.
Tachypnoea occurs in exercise
Q.5.
Short notes on(applied aspect):-






[6x3]

a.
Lung volume and capacities

b.
Cardiac failure

c.
Pathophysiology of peptic ulcer
Q.6.
Short notes on:-








[5x3]


a.
Empathy
b.
Decompression sickness
c.
Juxtaglomerular apparatus
-------------------
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[1x20]

1.
A 4 year old boy presented with epicanthal fold, strabismus and mental retardation. On urine examination, ferric chloride test was positive and mousy odor smell. There was history of seizures, eczema and limb spasticity. Name the clinical condition.

a.
Phenyl ketonuria

b.
Cystinuria

c.
Homocystinuria

d.
Alkaptonuria

2.
Bacterial synthesis of folic acid by the human intestinal flora is inhibited when sulphonamides is administered. Identify the type of inhibition.

a.
Allosteric inhibition

b.
Non-competitive inhibition

c.
Competitive inhibition
d.
Enzyme poisoning

3.
A girl accidently ingests lead paint and develops acute abdominal pain, tingling sensations of hands and legs along with weakness. Which enzyme is inhibited in this child?

a.
ALA synthase


b.
Heme oxygenase

c.
Coproporphyrinogen oxidase
d.
ALA dehydratase

4.
Biologically active sugars are in the D configuration such as D-Glucose and D-Galactose. D-configuration means:

a.
All the OH groups are on the right side.

b.
The OH group at C1 is on the right side

c.
The OH group on the penultimate carbon is on the right side.

d.
The OH group on C3 is on the right side always.

5.
Liver uses glucose at a significant rate only when blood glucose levels are elevated . This is due to the following EXCEPT
a.
Insulin increases the transcription of glucokinase gene.

b.
Insulin induces the uptake of glucose by GLUT-2 across the liver parenchymal cells.

c.
Km of glucokinase is considerably greater than normal blood glucose concentration.

d.
Glucokinase is not inhibited by glucose-6 phosphate

6.
Cadiolipins are composed of the following-

a.
Glycerol, choline and phosphoric acid

b.
Glycerol, fatty acids and phosphoric acid

c.
Glycerol, inositol and phosphoric acid

d.
Glycerol, serine and phosphoric acid
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7.
Zellweger syndrome is a rare autosomal recessive condition, characterized by early mortality in childhood. It is caused by:

a.
Mitochondrial degradation
b.
Defective formation of peroxisomes

c.
Break up of the cell wall
d.
Absence of ribosomes

8.
The respiratory chain of the mitochondria has many complexes. The component of the respiratory chain that reacts directly with molecular oxygen is:

a.
Cyt b



b.
Cyt c

c.
CoQ



d.
Cyt aa3
9.
Estimation of the activity of isoenzymes of Creatine phosphokinase in serum is useful in the differential diagnosis of:

a.
Muscle and heart diseases
b.
Muscle and liver diseases 

c.
Liver and heart diseases 
d.
Liver and kidney diseases

10.
A lady presented with tingling sensation in legs and hands along with lesions in the angle of mouth with red tongue. On investigation, glutathione reductase activity was found to be low. She is suffering from deficiency of which vitamin?
a.
Riboflavin


b.
Pyridoxine

c.
Vitamin B12


d.
Folic Acid

11.
Glycosaminoglycans (GAGs) have many biological functions in our body. Identify the GAG which is responsible for corneal transparency.

a.
Keratan sulphate

b.
Heparin sulphate

c.
Chondroitin sulphate

d.
Hyaluronic acid

12.
The pyruvate dehyrogenase complex (PDH complex) brings about the conversion of pyruvate to acetyl CoA. Which combination of cofactors is involved in this important reaction?

a.
NAD+ , biotin and TPP
b.
TPP, lipoic acid and NAD+

c.
Pyridoxal phosphate, FAD and lipoic acid

d.
Biotin, FAD and TPP

13.
Galactosemia is a rare, hereditary disorder of carbohydrate metabolism that affects the body's ability to convert galactose to glucose. The classical Galactosemia is due to the deficiency of:

a.
Hexosaminidase

b.
Glucocerebrosidase

c.
Sphingomyelinase

d.
Galactose-1-phosphate uridyl transferase

14.
Which of the following is the essential fatty acid in the human diet?

a.
Oleic acid


b.
Palmitic acid

c.
Linolenic acid


d.
Arachidic acid

15.
Vitamins are essential for proper functioning of certain metabolic pathways.The conversion of Propionyl CoA to Succinyl CoA requires two vitamins. They are:

a.
Thiamin and Riboflavin
b.
Thiamine and Biotin

c.
Biotin and Vitamin B12
d.
Vitamin B12 and Folic acid

16.
An anti-inflammatory substance that inhibits cyclooxygenase enzyme and prevents the synthesis of prostaglandins is :

a.
Sulphadiazine


b.
Paracetamol

c.
Penicillin


d.
Aspirin

17.
Refsum’s disease is characterized by accumulation of phytanic acid in the body. This is due to defect of:

a.
Alpha-oxidation

b.
Beta- oxidation

c.
Omega oxidation

d.
Deficiency of Endoplasmic reticulum
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18.
Which of the following lipoprotein will be elevated in the blood stream after intake of meals in a patient with lipoprotein lipase deficiency?

a.
Chylomicron


b.
Non esterified fatty acids

c.
Low density lipoprotein
d.
High density lipoprotein

19.
The secondary structure of proteins is formed by alpha helical structure and beta pleated sheet. The bonds stabilizing them are:

a.
Disulphide bonds

b.
Hydrophobic bonds

c.
Hydrogen bonds

d.
Electrostatic bonds

20.
The only amino acid that undergoes oxidative deamination to a significant extent and liberates free ammonia, which is then further metabolized to urea is :

a.
Aspartic acid


b.
Glutamic acid

c.
Valine



d.
Methionine

Q.2.
A new born baby had severe abdominal distention, abdominal pain and diarrhea after being fed breast milk. Stool analysis revealed the presence of reducing sugar.
a.
What is your diagnosis?

b.
What is the enzyme defect and what is the biochemical basis of the symptoms of the newborn.
c.
Enumerate different reducing sugars. Which out of them is most likely present in the stool of the newborn?
d.
How can it be treated?



 


   [2+4+3+3]

Q.3.
Write short notes on:-







[5x4]


a.
Epimers and amomers

b.
Essential fatty acids

c.
Liposomes and its significance

d.
One carbon pool
Q.4.
Explain why:-








[3x5]

a.
Blood collection tube containing sodium fluoride is used to collect specimen for blood glucose estimation.

b.
Sulpha drugs are avoided in patients with G6PD deficiency

c.
Homocysteinurea/Homocystinurea is a risk factor for CAD

d.
Some amount of glucose is required by adipose tissue for its normal function

e.
Urine turns black on standing in patient with alkaptonuria
Q.5.
Write short notes on (applied aspect):-





[6x3]

a.
Discuss the antioxidant role of various vitamins
b.
Describe ammonia transport with reasons of hyperamnonemia. Why ammonia is toxic for body?

c.
Discuss the role of enzymes in health and disease.
Q.6.
Write short notes:-








[5x3]


a.
Discuss briefly the β-oxidation of palmitic acid along with its energetics.

b.
Discuss various inhibitors of electron transport chain along with their site of inhibition.
c.
Discuss the boundaries of doctor-patient relationship.
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[1x20]

Tick the most appropriate answer:
1.
Frameshift mutation results from:
a.
Substituion of a single base

b.
Deletion of a single base
c.
Addition of a codon


d.
Deletion of a codon
2.
Immune response is suppressed by:
a.
Natural killer cells


b.
Helper T cells
c.
Regulatory T cells


d.
B cells
3.
The end product of purine metabolism in human is:
a.
Xanthine



b.
Uric acid
c.
Urea




d.
Allantoin
4.
Which hemoglobin derivative is normally found in blood?
a.
Deoxyhemoglobin


b.
Sulfhemoglobin
c.
Acid hematin



d.
Cyanmethemoglobin
5.
The ration of plasma bicarbonate to carbonic acid is:
a.
5:1




b.
10:1
c.
20:1




d.
40:1
6.
An increase in serum unconjugated bilirubin occurs in:
a.
Hemolytic jaundice


b.
Obstructive jaundice
c.
Defect in intestinal absorption 
d.
Glomerulonephritis
7.
Retention of sodium in the body leads to:
a.
Water retention


b.
Potassium retention
c.
Water loss



d.
Potassium loss
8.
Chaperons are the molecules required during:
a.
Protein folding and translocation 
b.
DNA repair
c.
Post-transcriptional modifications
d.
None of the above
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9.
Kwashiorkar usually occurs in :
a.
The post weaning period

b.
Pregnancy
c.
Lactation



d.
Old age
10.
Extracellular matrix has:
a.
Same composition in all the tissues

b.
No interaction between the ground substance and cellular components
c.
A stable inert structure

d.
The composition to suit the biochemical and mechanical properties of the tissues
11.
A 10 year old child presents with history of rashes self mutilation family history positive. Which of the following investigation do you think may be suggestive of valuable for diagnosis?
a.
Lead




b.
Alkaline phosphatise
c.
LDH




d.
Uric acid
12.
Ehler-Danlos syndrome results in abnormal crosslinks among tropocollagen molecules. Individuals affected with this anomalous condition possess abnormal collegen fibers that result in hypermobile joints and hyperextensive skin. It can occur due to deficiency of:
a.
Neuraminidase


b.
Lysyl hydoxylase
c.
Iduronidase



d.
G6PD
13.
Respiratory quotient after heavy carbohydrate meal is:
a.
1.2




b.
0.8
c.
1.0




d.
0.7
14.
DNA replication is:

a.
Conservative 



b.
Non-conservative 
c.
Semi-conservative


d.
None
15.
A person was admitted in coma. Analysis of the arterial blood gave the following values :

pCo2 16mmHg, HCO-3 5mmol/L and PH7.1. What is the underlying acid base disorder?
a.
Metabolic acidosis


b.
Metabolic alkalosis 

c.
Respiratory acidosis


d.
Respiratory alkalosis 

16.
Cushing’s syndrome (overactivity of the adrenal cortex) may be diagnosed by:
a.
Hypokalaemia



b.
Hyperkalaemia
c.
Hyponatraemia


d.
Hypernatraemia



 



17.
During DNA replicaion, ‘5-GTCAAT-3’ strand produces a new complementary DNA strand with the following structure:
a.
5’-CAGTTA-3’


b.
5’-ATTGAC-3’

c.
5’-ACACCG-3’


d.
5’-GCCAAC-3’
18.
Detection of Bence Jones protein (a non-blood protein) in urine is diagnostic importance in case of:
a.
Multiple myeloma and myelogenic osteosarcoma

b.
Typhoid fever
c.
Thalassaemia

d.
AIDS
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19.
Tubular maximum (TmG) for glucose:
a.
180 mg/dl


b.
280 mg/dl 
c.
350 mg/dl


d.
450 mg/dl
20.
Which of the following is an anticancer drug:
a.
Zidovudine


b.
6-mercapto purine
c.
Allopurinol


d.
Acyclovir
Q.2.
An eight year old boy is brought to the OPD with complaints of swelling around the eyes and ankles. The urine was frothy. On examination pedal edema was observed. Routine investigations showed:




S. protein:
5.9 gm/dL








S. albumin:
2.2 gm/dL



Cholesterol:
329 mg/dL




Urine protein:
+++

a.
What is the most probable diagnosis in this case? Justify.


b.
What is the biochemical role of albumin in blood?

c.
What is the biochemical basis of hypercholesterolemia in this case?
[4x3]
Q.3.
Write short notes on:-







[5x4]

a.
Describe features of the genetic code.

b.
Differentiate between glycoproteins and proteoglycans.
c.
Enumerate the clinical significance of any five nucleotide analogues.

d.
Explain the role of tumor suppressor genes in cancer.
Q.4.
Explain why:-








[3x5]

a.
Hypocalcemia occurs in pancreatitis 
b.
Steatorrhoea is observed on obstructive jaundice

c.
Anemia occurs in lead poisoning
d.
Negative nitrogen balance is observed in cancer

e.
Anion gap is high in diabetic ketoacidosis
Q.5.
Write short notes on:-







[6x3]


a.
Explain the biochemical tests performed to assess liver function
b.
Describe gene regulation in eukaryotes

c.
Differentiate between primary and secondary immune response
Q.6.
Write short notes:-








[5x3]


a.
Describe the different blood buffers

b.
Explain the biochemical significance of glycemic index
c.
What is the ideal method of breaking bad news to a patient’s relative?
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